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Find the value of the

underlined digit.

7,052
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Find the value of the
underlined digit.
2,546,032
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Find the value of the
underlined digit.

34,948

Find the value of the
underlined digit.

869,034
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Divide.
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Divide.
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The value of the 6 in 26 is 10
times (greater/less) than
the value of the 6 in 264.
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The value of the 9 in 2,907
is 10 times (greater/less)
than the value of the 9 in

19,542.
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The value of the 3 in
438,621 is 10 times

(greater/less) than the
value of the 3 in 43,208.

The value of the 5 in

5,847,242 is 10 times
(greater/less) than the
value of the 5 in 3,574,016.

4.NBT.1

< % S € €

7 7 7 y A . A

Walden Green Montessori - Math Task Cards
A 4 A 4 A 4 A 4 A 4 A 4 A 4 A 4

) W W W W WL W W
N
N
Py
N
»
.
|
-
-
|
%
L
<
A
7 7 T @1 1.\




Y & & & 0 & 0909090 4

Which number has a 2 with
a value of 1/10 of the 2 in
12,6457

a) 28,794 b) 16,293

Which number has an 8 with
a value of 1/10 of the 8 in
4.861,5727

a) 182,976 b) 78,431
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a value 10 times greater
than the 7 in 9,3707

a) 780 b)7,534

a value 10 times greater
than the 4 in 41,2757

a) 6,432,079 b) 3,246,970
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The value of the 1 in
413,062 is the
value of the 1 in 176,283.
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The value of the 3 in

/A y i N W Y 1 L} X

A
7 Y A A E— A W WY L 7 T 1T 1 A W WY
. s\ \\ J T T I 7T 7 ) W W W W W W © I T T 1
1 /\

~ /// \
g \\\ ¢//

1 26,451 s

==

A\

N =7

The value of the 6 in

of the 6 in 47,639.

the value |

The value of the 8 in

7,138 is the value 9,805,213 is the
of the 3 in 573. value of the 8 in
8,124,762.
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